a) 4x2-12=0 |+12
Ix2 =12 |4
x2=3 |
x = V3 oder x = -V3

b) 3x2-21x =0 | x ausklammern
X-(38x-21)=0
X=0oder3x-21=0 |-21
Xx=0oder3x=21 |:3
Xx=0oderx=7

c) x2-8x+15=0 |T
X =4 + V(16-15)
X =4 +(1)
Xx=4%1
X =-3 oder x =-5

d) x2-7x+15,25=0 |T
x = 3,5 + V(12,25-15,25)
X =-3,5 + V(-3)
Keine LAsung

e)x2-6x+9=0 |T
(x-32 =0 |V
X-3 =0 [|+3
X=3



f) -5x2+15x=0 |-(-1)
5x2 - 15x =0 | x ausklammern
X-(bx-15)=0
X=0oderb5x-15=0 |+15
X=0oder5x=15 |:5
X=0oderx=3

g) 4x2+24=0 |-24
4x2 =-24 |4
x2=-6 |
Keine Losung

h) 3x2+ 21x =0 | x ausklammern
X-(3x+21)=0
X=0o0der3x+21=0 |-21
Xx=0oder3x=-21 |:3
X =0 oder x = -7



